Measurements are in mm / Mesures en mm.

2000/2500W G22 THEATRE SPOTLIGHT /
PROJECTEUR DE THEATRE 2000/2500W G22

SPARE PARTS LIST /

329H

NOMENCLATURE PIECES DETACHEES. | DN30751800-C | 04/04/19
MOUNTING DIFFERENT LENSES / ?3,? CODE DESCRI PTION
MISE EN PLACE DES DIFFERENTES LENTILLES 1 PD30000004 | Complete filter holder (without lens) /
Cassette porte-filtre compléte (sans lentille).
HF 2 [ BO10000008 | Focusing knob / Bouton moleté.
>OR/\/\N\/\/\N\/\/\N\NX/® 3 | DU40032603 | Bearing/Canon.
;K8 | 4 | DU40182901 | Blocking collar / Bague d'arrét borgne.
| 5 | VI0O4010002 | Blocking screw / Vis de blocage (M4).
! 6 | DJ40309105 | Focusing screw / Vis de réglage.
L HPB 7 | DJ30238500 | Disk support/ Rondelle de maintien.
() 8 | DU30222127 | Stud/ Colonnette.
| 10 | VIO4020001 | Nut/Ecrou(M4).
12 | DU40754800 | Teflon bearing / Palier Téflon.
13 |1 DJ40437100 | Socket support/ Equerre support douille.
14 | PD60000033 | Socket/ Douille - G 22.
1—(b) 15 | DT40496800 | Spring/ Ressort.
16 | DU40496701 | Guidance part/ Guide.
/® 17 | CF00200001 | Ball bearing / Bille.
@ 2 18 | DU40496702 | Nut/Ecrou.
@ 30 | VIO4030010 | Washer/Rondelle (24).
— 31 | VIO4010008 | Screw/ Vis (M4).
% 329 HF
2 A | OP20030001 | FRESNEL lens/ Lentille FRESNEL.
9a | ME10010203 | Silicone protection / Manchon silicone** HF.
29 | DJ40726700 | End stop for 329 FRESNEL /
Butée limiteur de course pour 329 FRESNEL.
329 HPB
B | OP20012001 | PEBBLE CONVEX lens / Lentille PEBBLE CONVEXE.
9b | ME10010217 | Silicone protection / Manchon silicone (x3) HPB.
329 HPC
C | OP20010006 | PLANO CONVEX lens / Lentille PLAN CONVEXE claire.
9b | ME10010217 | Silicone protection / Manchon silicone (x3) HPC.
| 20 | 300P060003 | Reflector support / Support miroir.
rh 21 | MI00000010 | Reflector/ Miroir.
= @ 23 1| DJ30223212 | Tube/ Tube de glissement.
— 24 | PO00000021 | Handle/ Poignée.
/ i 26) = 25 [ VI10030011 | Springwasher/Rondelle a ressort (@10).
E @) @? 0, 26 | PD30000001 | Cablegland + nut/ Serre-cable + écrou.
@ 27 | ME10010205 | Silicone protection / Manchon silicone.
28 | MET16U00307 | 3m cable mounted with 10/16A NF/Schuko plug /
Cordon 3m + prise 10/16A. NF/Schuko (Standard).
CAUO0030013 | 3AWG12 power cable, without plug - per meter /
Cordon 3AWG12, sans prise - le métre (NA¥).
YOKE BLOCKING SYSTEM /
BLOCAGE DE FOURCHE
1 | DJ40182105 | Disk/Rondelle de blocage.
@) (® \ @ ® 2 | DU30221920 | Strut/Entretoise.
M 1 3 1VI1T0030003 | Washer/Rondelle (210).
[ [ ] A "mi 4 | vi10010018 | Screw/Vis(M10).
5 VI10010006 | Screw/ Vis (M10).
| 'IM\\ [ ! 6 | DJ40035600 | Yokelock/Blocage fourche.
RE, ‘ : %) 7 | PO00000025 | Handle / Poignée (M10).
OJON| 8 | DU40032605 | Bearing/ Canon.
9 | DJ30238700 | Yoke/ Fourche.
- - (*) Version : North-American / Nord-Américaine.
Left side / Coté gauche | Right side / Cété droit (**) Tobe cutin 3 parts /A recouper en 3.

' WARNING - Always use the codes, when ordering spare parts / ATTENTION - Pour passer une commande de piéces détachées, utiliser toujours les codes !

Le constructeur se réserve la possibilité de modifier ses matériels sans avis préalable. Les renseignements

Robert Juliat reserve the right to change or alter any of the items detailed on this
page, to increase or improve manufacturing techniques without prior notice.

mentionnés sur cette notice sont donnés a titre indicatif et ne sauraient présenter de caracteére contractuel.



Measurements are in mm / Mesures en mm.

2000/2500W G22 THEATRE SPOTLIGHT /
PROJECTEUR DE THEATRE 2000/2500W G22

SPARE PARTS LIST /

NOMENCLATURE PIECES DETACHEES.

329H

[DN30751800-C |

04/04/19

Accessories & options /
Accessoires & options

INCLUDED / INCLUS

OPTIONS

&

CODE

DESCRIPTION

FPAPF00018

FPAGRO00OS5

FPACF00007

FJUC000059

RPAFIX0056

PF329M

245 x 245mm Staple-secured metal filter holder /
Porte-filtre métal 244 x 244mm a agrafer.

G329

245 x 245mm Grid frame /
Grille 245 x 245mm.

CF329

Barndoors / Coupe flux.

PCP17 16A

P17 16A male plug /
Fiche mdle P17 16A.

Security cable for front accessory /

Cable de sécurité pour accessoire frontal.

Compatible lamps / Lampes compatibles

2000 or 2500W / 230 or 240V - 3200K
Biplan filament

G.E. CP92 2000W 52 000Lm
CP91 2500W 67 500Lm
PHILIPS 69757 2000W 50 000Lm
6894Y 2500W 67 500Lm

These lamps are particularly sensitive to over-voltage

- check the voltage of the supply you are using and make sure
you are using the correct lamp /
Ces lampes sont particulierement sensibles aux surtensions -
contréler la tension secteur d'utilisation.

' WARNING - Always use the codes, when ordering spare parts / ATTENTION - Pour passer une commande de piéces détachées, utiliser toujours les codes !

Le constructeur se réserve la possibilité de modifier ses matériels sans avis préalable. Les renseignements

Robert Juliat reserve the right to change or alter any of the items detailed on this
page, to increase or improve manufacturing techniques without prior notice.

mentionnés sur cette notice sont donnés a titre indicatif et ne sauraient présenter de caracteére contractuel.



